Jooodoodde
HRERERERERERERE

Jogd

May 12, 2003



§1 00000

Oo0o0odoon
Ax = \x

O000doooooooooooboodddddoooogooA0 nxnOOO
cUnUO000ooboogng

Joggod

000000000 (characteristic equation)

det(A—- X)) =0

oottt otdbtgbbotdboodbtobbotboodbotobotbooyn
Doo0ddooooooooboono Ao o ooooooooooooon
o xOo0boooonoodoodonoodonoouonooodooog
Do00000D0ddoo0doooooodoo(@oodooooD) ooooo

1



oottt gtdbtgbotdbogtdbtgb oot tobotdboogdn
oot

000000000000 0000000000nDoooooooon (Schur)O
oottt odoobodgoodn
O000nxnOdOO0 AODODOOOOO

A* = Al (1)

0000000000000000A0D00ADO0DODOOODA' OO0 ADOOO
Joodoogoobootdbootdbotbobotobotdooobobougbood

A* = A (2)

00000000000000 (Hermitian matrix) DO 00 AODDOOODOO
000000000000 (symmetric matrix)

A=A (3)
0o0ooooo
AA* =T (4)



0000000000000 00 (unitary matrix)0DO00000 AQ
AAt =T (5)
0000000 ADDOOO (orthogonal matrix)0 00000

nUUOUOUOO00OUOOz,yOUOUOO

mn
(z,y) = ) =Y (6)
=1
Ooo0dono
OO0 @oooog)
nxndOOO AO
A= SUS* (7)

O300000o0boooooooooosSoboooooovvooooooon
Joodogtubobotdboodn



00 S0
52[817327"'73n]7 SiGRna (7’:1727777’) (8)
Oo0ddoogdn

1. 00UD00000AD0ODOO {s1,s2--+,sm}0000m, (1 <m<n),
0000 ADDDOOD0DOOOOO

2. AU0000O000O00O0O00Osy,s2---, 0000000 0O0OOOOOOO
Jooododou odououogo

3. AU000000O0o0oooooood

A=QUQ! (9)

Joooododoovdooboonoguodooilig2odooooood
Jodoovooooooooooooo Adooooood



oottt tbotdbootdbtobotdbootbtobotdogun
oottt odooboogoogn
Jootdbootubtgbbotdbotdbogtubtuobbotdbotdnod

000000000000 (similarity transformation) 00000000000
oooocooon

c—tAC
0o0ooooo
Az = \z & (CtAC)C 1z = A1z
0000
det (A — \I) =det[C™1(A = \I)C] = det (C~LAC — \I)
Jooooooo A0 C lAcooooooooOon

Juodtdbttbbotdbootdbtgbbotdboodgbtobbotboodbtob ooty
oot tobotdboogdogd



(1) 000000000000

Jboogtdbbobgttdboogtdboogdbbotdbotgdboogdboboodd
Juoodotod, botdbogtdbtgbotdbootdn

1. 000oooooo3gouogn

2. 000o0gooboobooboo3gdouodgn

3. 0000000000000 (Hessenberg)d OO

0000000000000 000000000000000 (Householder)O
Joodoodogd

(2) 0000000000 DOO0ODOODOODOOO



Oo0ooodoo()DodoodooooooooDoooDoo@ooo)oooon
00d0doooooooooooodoooooooooddQROOLRO
Joooon

oottt tobotdbootdbotobotdboogboobogogoon
Joodooddoouboobodboodoodbooooobooboogoogn
Juootdogdbtgubgbotdbootbootbtobbotbotdbogd

QROODODOOOODODOOODODUO0OO0O0OOO0ODLO0O0O0O0oO0Oooooon
Juootdbogubtgbbotdbootdbogun

JodoooouodogbooudLanzosUU oo oooooogg
oottt otdbtgbbotdbootdbtobbotboodbotobotbootyn
Juootdbootubtgbbdbotdbogdbtuobbotdboodod



§2 0000

Juobotdbootdogtbtubbotgbotdbogtdbobbtob ot otdbougtun
Joodoogogot

nxnUOOAOOOOOODOOOOOOOD AO000O00O0OOO0O0OD0OO0OO0O0OOOn
D00dooooooooodooooooobdddw=00n0d0ooooon
HpN

u 0 Ayk
Yo — 77 VY41 —
[Jul

0k =0,1,2,--- (10)
| Ayl

Joooogdog
O

AOOO0OOOOODOO A O

(ALl > [A2] 2 [A3] = -+ = [An] (11)



0000000000000MO0000000000000(u,v) 000X, (j=
1,2,---,p)000000000000000000000y, — v, (k— oco)0 O
000000yfAy, — A1, (k—o00)0000

O

OooooAdOOOOO0

A1 > Ao > [A3] > - > Ay (12)

J000000000000000000 ;0000000000 %; 0O (@ =
1,2,---,n) 0 R"0000000000|»|| = 100000000000000
000000 yoO

Yo = c1T1 + T2 + - -+ + CnTn (13)
DDDDDDDAJ}?;Z)\,L'CIZZ'DDDDDOszDDDDDDDD

yj = aj(ciM ey + eoXbao 4+ -+ enMan) (14)



O00d0ddd0de; =00000

' & “1 Ai /
yj p— Oéj01>\]1 {33‘1 —|— Z G <)\—1> mz} (15)

0000|N/AM| <10 ((=1,2,---,n)000000150000{ }000O
j—oo0z1000000000ajeN, — 1000000

y; Ay; — A0 — oo) (16)
no0oo(@Oooon)

Oo0o0ddoooooono A0Do0oooooooooooooooooooon
O000oooooooooooobotddeg 00000000000 DODOOO
Jotdbotdbtdbtdgbotdbobgbotgbtubtgbtbtby, U
Juddbogtubtobbotdbotdbgubtbotdbootdbugtbtbotdod



§3 0000

nxnOOAODOOOOANDOOOOOOOOO0o00000O

Ar = Az (17)
ADDOoOoOoooooooA-looooAlooooO
1

ac=)\A_1a:<:>A_1$=Xa: (18)

oooooooooooA-loooo 1/ 00000000 0000000000
0O00000DA 000000000000 ADDOOOOOOOOODOOOODOO
Joodooobodgoodogn

O00000OnxnO0O0AO0OOOOOOOCOOOOOXNOOOOOOOOOeO
AUO00000000O0O000O000000 A—-010O
(A—oclv=Av—ocv=(A—o0)v (19)

3



D0o00ooAD0doootbo2dddooouodbedogoXOU00oog
00000 AN—0o|000A—-ol000D0OODODOOODOODODODODOODOOO
EIDDDDD(A—JI)_1DDDDDDDDDDD)\DDDDDDDDDDDDD
Joodoogoobooobodoogboooo

oottt otdbtobbotdboodbtobbotdboodbotobotdboodn
Joodoooogboogoogod

U u*Au
yo = ——Upo = —
]| u*u

2L 27 Az,
Dpk — 7k
12l

(A —pp_1D)zp, = yp_1 0y, = , (k>1) (20)

21 2,



